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QUESTION 1

View the Exhibit and examine the structure of the promotions table.

PROMO_NAME
PROMO_SUBCATEGORY
PROMO_SUBCATEGORY L

NOT NULL|NUMBER
NOT NULL|NUMBER(10,2)

NOT NULLJDATE
PROMO_END_DATE NOT NULLJDATE

Evaluate the following SQL statement:

SQL>SELECT promo_ name, CASE
WHEN promo_cost @ (SELECT AVG (promo_cost)
) FROM promotions

WHERE promo_category='TV')

FROM promotions;
Which statement is true regarding the outcome of the above query?
A. It shows COST_REMARK for all the promos in the table.
B. It produces an error because the SUBQUERY gives an error.
C. It shows COST_REMARK for all the promos in the promo category WTV\\'
D. It produces an error because SUBQUERIES cannot be used with the case expression.

Correct Answer: A

QUESTION 2

You issue the following command to drop the products table:
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SQL> DROP TABLE products;

Which three statements are true about the implication of this command? (Choose three.)
A. All data along with the table structure is deleted.

B. A pending transaction in the session is committed.

C. All indexes on the table remain but they are invalidated.

D. All views and synonyms remain but they are invalidated.

E. All data in the table is deleted but the table structure remains.

Correct Answer: ABD

A: The DROP TABLE statement moves a table or object table to the recycle bin.

B: If a user issues a DDL (CREATE, ALTER, or DROP) or DCL (GRANT or REVOKE) command, the transaction in
progress (if any) will

Incorrect:
Not C: Dropping a table invalidates dependent objects, such as indexes and constraints.

References:

QUESTION 3

What is true of using group functions on columns that contain NULL values?

A. Group functions on columns ignore NULL values.

B. Group functions on columns returning dates include NULL values.

C. Group functions on columns returning numbers include NULL values.

D. Group functions on columns cannot be accurately used on columns that contain NULL values.
E. Group functions on columns include NULL values in calculations if you use the keyword INC_NULLS.
Correct Answer: A

group functions on column ignore NULL values Incorrect answer:

B. group functions on column ignore NULL values

C. group functions on column ignore NULL values

D. NVL function can be use for column with NULL values E. no such INC_NULLS keyword Refer: Introduction to
Oracle9i: SQL, Oracle University Study Guide, 5-12

QUESTION 4
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The PART_CODE column in the SPARES table contains the following list of values:

PART CODE

= 5
A%_WQ123 &
A%BWQ123 )
AB_WQ123 R

Evaluate the fmllnwing,gqﬁri:

SQL> SELECTEpart_code
FROM spares”
WHERE part_code LIKE "/%\%_WQ12%' ESCAPE "

Which statement is true regarding the outcome of the above query?

A. It produces an error.

B. It displays all values.

C. It displays only the values A%_WQ123 and AB_WQ123 .

D. It displays only the values A%_WQ123 and A%BWQ123 .

E. It displays only the values A%BWQ123 and AB_WQ123.

Correct Answer: D

Combining Wildcard Characters The % and _ symbols can be used in any combination with literal characters. The
example in the slide displays the names of all employees whose last names have the letter "0" as the second character.
ESCAPE Identifier When you need to have an exact match for the actual % and _ characters, use the ESCAPE
identifier. This option specifies what the escape character is. If you want to search for strings that contain SA_, you can

use the following SQL statement: SELECT employee_id, last_name, job_id FROM employees WHERE job_id LIKE
\W%SA\ %\\' ESCAPE \\W\\\;

QUESTION 5

View the Exhibit and examine the structure of CUSTOMERS and SALES tables.
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Name
==JTREID
DAY _NAME
GAY_UMBER_IN_MONTH
CALENDAR_WEEK_NUMBER

—_—

|
PRONO_NAME
PRONO_SUBCATEGORY

[o————

TheT 1
MO |
NOT NULLJWARCHA
NOT NULLJVARCHARZ{30)
PROMO_SUBCATEGORY_ID| NOT NULLINUMBER
PROMO_CATEGORY NOT NULLJWARCHARZ(30)
NOT NULL|NUMBER
[PROMO_COST NOT NULLINUMBER(10,2}

i 1
! i
i i
! i
1 1
: i
1

i PROMO_BEGIN_DATE NET NI naTE H
! PROND_END_DATE NOT NULL|DATE 1
: i
! I
1 [
] [
i i
; 1

Type

DATE
VARCHAR2(3)
NUMBER(Z)
NUMBER(Z)
NUMBER(2)
VARCHAR2(8)
NUMBER(H)

3

=
l ] -—
! |noT NULL R -
: CHANMEL_ID |NOT NULL|NUMBER
1 UNIT_COST  INOT NULLINUMBER{10.2} r
! UNIT_PRICE |NOT NULL|NUMBER{10,2} i 1
! i -
1 i -
i :. -
i 1
] ti i
1 1y 1
[} [N 1
: ¥ '
- L H
L 4y !
¥ NOT NULL | VARCHAR2(50) ' 1
PROD_DESC hOT NULL | VARCHAR2(s000)] ¢ i
PROD_CATEGORY NOT NULL | VARCHAR2(50) i - R
PROD_CATEGORY 10 ROT NULL | NUMBER ! :g; :ﬂtt x:gﬂg@[
PROD_UNIT_OF_MEASURE VARCHARZ(20) H - AETRorLIRDREER i20)
[SUPPLIER_ID :g: :35_ % i GHANNEL.TOTAL | NOT NULL|VARCHARZ(13]
[FRAT_ TRT_PRIEF |ROT NULL | NUMBERGE,2) ' i O T TOA B [T HULUNLMEER
[FROD_WIN_PRICE [ROT NULL | NUMBER(S,2) K
L
Table CLSTOMERS =
ame Nuli? Type
k= JCuUsT D NOTNULL| NUMBER
CUST_FIRST_NANE NOTNULL | VARCHARZ (20)
CUST_LAST_NAME NGT NULL | VARCHARZ (40)
CUST_GENDER NOTNULL | CHAR (1)
CUST_YEAR_OF_BIRTH _| NOTNULL| NUMBER (4] m&fﬁ .
CUST_MARITIAL_STATUS VARCHARZ (20) i LLID-*""’—
CUST_STREET_ADDRESS | NOTNULL| VARCHARZ (40) r==pORENTEYID NOT NULLINUMBER
[CUST_POSTAL_CODE | NGTNULL | VARCHARE (10) | [COUNTRY_NAME _lnoT NULLIVARCHARZ(40
CUST_CITY NOT NULL | VARCHARZ (30) | JCOUNTRY_REGION INOT NULLIVARCHARZ(20)
CUST_STATE_PROVINCE | o NULL] VARCHARZ (40) ! [COUNTRY_TOTAL _[noT NULL|WARCHAR2(11)
COUNTRY_ID NOTNULL| NUMBER ot ET
CUST_INCOME_LEVEL VARCHARZ (30)
CUST_CREDIT_LIWIT NUMBER
CUST_EWAIL VARCHARZ (30)

Evaluate the following SQL statement:

UPDATE (SELECT prod_id, cust_id, quantity_sold, time_id

FROM sales)

SET time_id = \\'22-MAR-2007\\

WHERE cust_id = (SELECT cust_id

FROM customers

WHERE cust_last_name = \\'Roberts\\' AND

credit_limit = 600);

Which statement is true regarding the execution of the above UPDATE statement?

A. It would not execute because two tables cannot be used in a single UPDATE statement.

B. It would not execute because the SELECT statement cannot be used in place of the table name.
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C. It would execute and restrict modifications to only the columns specified in the SELECT statement.
D. It would not execute because a subquery cannot be used in the WHERE clause of an UPDATE statement.
Correct Answer: C

One UPDATE statement can change rows in only one table, but it can change any number of rows in that table.

QUESTION 6

A sequence is created as follows:

create sequence seql maxvalue 50;

If the current value is already 50, when you attempt to select SEQ1.NEXTVAL what will happen?
A. The sequence will cycle and issue 0.

B. The sequence will cycle and issue 1.

C. The sequence will reissue 50.

D. There will be an error.

Correct Answer: D

The default is NOCYCLE, and the sequence cannot advance further.

QUESTION 7

Which create table statement is valid?
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A) CREATE TABLE ord_details
(ord no NUMBER(2) PRIMARY KEY,
item no NUMBER(2) DPRIMARY KEY,
ord date DATE NOT NULL): §

B) CREATE TABLE ord _details S
(ord no NUMEER(2) UNIQUE, NOT NiTHE,

item_no NUMBER (3) ,
Drd_dat.e DATE DEFAULT S5YSD T NULL) ;

C) CREATE TABLE ord_detai @
(ord_no NUMEER(2) , @%
item no NUMBER(3),
ord_date DATE D NOT NULL,
CONSTRAINT ord NIQUZ (ord no),
CONSTRAINT o z PRIMARY KEY (ord no));

D) CREATE T ord details
(ord_n ER(2),
item no NUMRER (3),
ord date DATE DEFAULT SYSDATE NOT NULL,
CONSTRAINT ord_pk PRIMARY KEY (ord_no, item _no)):

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: D

PRIMARY KEY Constraint

A PRIMARY KEY constraint creates a primary key for the table. Only one primary key can be created for each table.
The PRIMARY KEY constraint is a column or a set of columns that uniquely identifies each row in a table. This

constraint

enforces the uniqueness of the column or column combination and ensures that no column that is part of the primary
key can contain a null value.

Note: Because uniqueness is part of the primary key constraint definition, the Oracle server enforces the uniqueness by
implicitly creating a unique index on the primary key column or columns.

Incorrect:
Not A: Two primary keys are not allowed.
Not B: You cannot specific a column to be both UNIQUE and NOT NULL.

Not C: The default value cannot be NOT NULL.
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QUESTION 8

View the Exhibit and examine the structure of the customers table.

Table CUSTOMERS

r ame

CUST_ID m
CUST_FIRST _NAME ARCHAR2 (20)
CUST_LAST_NAME ARCHAR? (40)

CUST_GENDER JULL ] CHAR (1)
CUST_YEAR_OF_BIRTH III'*‘-'&T.'.!]!! NUMBER (4)
CUST_MARITIAL_STATUS [T0o% VARCHAR2 (20)
CUST_STREET_ADDRESSPNOT NULL | VARCHARZ (40)
CUST_POSTAL_ _:._ﬁy’ NOT NULL | VARCHARZ2 (10)

CUST_CITY = NOT NULL | VARCHAR2 (30)
CUST_STATE VINCE | NOT NULL | VARCHAR?2 (40)
COUNTRY NOT NULL | NUMBER
CUST_INCOME_LEVEL VARCHAR2 (30)
CUST_CREDIT_LIMIT NUMBER
CUST_EMAIL VARCHAR2 (30)

Using the customers table, you need to generate a report that shows the average credit limit for customers in
Washington and NEW YORK. Which SQL statement would produce the required result?
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A) SELECT cust_city, AVG(cust_credit_limit)
FECM customers
WHERE cust _city IN ('WASHINGTON', 'NEW YORE')

GROUP BY cust_credit_limit, cus (‘3‘ yi

B) SELECT cust_city, AVG(cust_c _limit}
FROM customers @
WHERE cust_city IN ('W GTON', "NEW YORE')
GROUP BY cust_city.cus§@yéredit limit:

C) SELECT cust_cit (cust_credit limit)
FROM customers
WHEEREE C‘.'IJSt_CL ¢IN ('"WASHINGTON', "NEW YORE')
GROUP BY c ity:;

D) SELECT cust city, AVG(NVL(cust credit limit,0))
FROM customers
WHERE cust_city IN ('WASHINGTON', 'NEW YORE'):;

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 9

Exhibit contains the structure of PRODUCTS table:

:TH!H'H' Pﬂml-m I

ﬁﬂl‘l’]ﬂ -

I :. P S EM'
WARCHARZ(4000)]
WARCHARZ(50)

PROD_NAME
PROD_DESC
PROD_CATEGORT
FROD_CATEGORT_ID it NUMBER
PROD_UNIT_OF_MEASHRE| VARCHARZ(20)
NGT NULL | NUMBERS)
NOT NULL | VARCHARZ(Z0]
FROD_LIST_PAIC NOT NULL | NUMBER(S, 2}
FROD_MIN_PRICE NOT NULL | NUMBER(S,2)

Evaluate the following query: What would be the outcome of executing the above SQL statement?
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SCL= SELECT prod_name
FROM products AP
WHERE prod_id IM (SELECT prod_id FROR pm’ﬁ’ﬂtts
WHERE prod_list_prigs=
[SELECTﬁg,ﬂiﬁi}:[prud_list_pricejFRDM products
WHERE prod_list_price <
- (SELECT MAK(prod_list_price)FROM products))y;

A. It produces an error

B. It shows the names of products whose list price is the second highest in the table.

C. It shown the names of all products whose list price is less than the maximum list price
D. It shows the names of all products in the table

Correct Answer: B

QUESTION 10

See the structure of the PROGRAMS table:

Name Null?  Type
__________ "

g
FROG 1D NDT,HE‘RL MUMBER3)
FROG COST (15_5-;.. MNUMBER(S,2)
START_DATE ‘\;_‘-;ﬂDT MULL DATE
END DATE N DATE

Which two SQL statements would execute successfully? (Choose two.)

A. SELECT NVL(ADD_MONTHS(END_DATE, 1), SYSDATE)FROM programs;

B. SELECT TO_DATE(NVL(SYSDATE-END_DATE, SYSDATE))FROM programs;

C. SELECT NVL(MONTHS_BETWEEN(start_date, end_date), \\'Ongoing\\')FROM programs;
D. SELECT NVL(TO_CHAR(MONTHS_BETWEEN(start_date, end_date)), \'Ongoing\\') FROM programs;
Correct Answer: AD

NVL Function

Converts a null value to an actual value:

Data types that can be used are date, character, and number.

Data types must match:

?NVL(commission_pct, 0)

?NVL(hire_date, \W01-JAN-97\\')
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?NVL(job_id, \W'No Job Yet\\")
MONTHS_BETWEEN(datel, date2): Finds the number of months between datel and date2

The result can be positive or negative. If datel is later than date2, the result is positive; if datel is earlier than date2, the
result is negative. The noninteger part of the result represents a portion of the month.

MONTHS_BETWEEN returns a numeric value. - answer C NVL has different datatypes - numeric and strings, which is
not possible!

The data types of the original and if null parameters must always be compatible. They must either be of the same type,
or it must be possible to implicitly convert if null to the type of the original parameter. The NVL function returns a value
with

the same data type as the original parameter.

QUESTION 11

View the Exhibit and examine the structure of ORDERS and CUSTOMERS tables. There is only one customer with the
cus_last_name column having value Roberts. Which INSERT statement should be used to add a row into the ORDERS
table for the customer whose CUST_LAST_NAME is Roberts and CREDIT_LIMIT is 600?

ORDERS
Hame Hull? Type
ORDER ID NOT NULL | NUMBER (4)
ORDER DATE NOT NULL | DATE®"
ORDER MODE WVARCHAR?Z (8)
CUSTOMER ID NOT NULIga\NUMBER (&)
ORDER TOTAT _O)°PNUMBER (8B, 2)
%ﬂhﬁ}

©
CUST OMERS S
Hame ©)[Wull- Type
CUSTOMER ID ol ¢°| NOT NULL | NUMBER (6)
CUST FIRSTQNAME | NOT NULL | VARCHARZ (20)
CUST LASE)NAME |NOT NULL | VARCHARZ (20)
CREDIT LIMIT NUMBER (9, 2)
CUST ADDRESS VARCHARZ (40)

A. INSERT INTO orders VALUES (1.\W'10-mar-2007\ \\'direct\\'. (SELECT customeridFROM customersWHERE
cust_last_iiame=\\'Roberts\\' ANDcredit_limit=600). 1000);

B. . INSERT INTO orders (order_id.order_date.order_mode. (SELECT customer idFROM customersWHERE

cust_last_iiame=\\'Roberts\\' ANDredit_limit=600).order_total)VALUES(L\\'10-mar-2007\\". \\'direct\\',
andandcustomer_id, 1000):
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C. INSERT INTO(SELECT o.order_id. o.order_date.o.order_modex.customer _id.
D. ordertotalFROM orders 0. customers cWHERE o.customer_id = c.customeridAND

E. cust_la$t_name-RoberTs\\' ANDc.credit_liinit=600)VALUES (L\\'20-mar-2007\ \'direct\\'.( SELECT
customer_idFROM customersWHERE cust_last_iiame=\\'Roberts\\' ANDcredit_limit=600). 1000);

F. INSERT INTO orders (order_id.order_date.order_mode.(SELECT customer_idFROM customersWHERE
cust_last_iiame=\\'Roberts\\' ANDcredit_limit=600).order_total)VALUES(I.\\'10-mar-2007\ \\'direct\\'. andcustomer _id.
1000):

Correct Answer: A

QUESTION 12

Examine the following query:

SQL> SELECT prod id, amount sold
= ! 4
FROM sales ,ﬁﬁ
_n.,;:'l\.

ORDER BY amgq@éft_sold

o

FETCH FIRST 5 PERCENT ROWS ONLY;

What is the output of this query?

A. It displays 5 percent of the products with the highest amount sold.

B. It displays the first 5 percent of the rows from the SALES table.

C. It displays 5 percent of the products with the lowest amount sold.

D. It results in an error because the ORDER BY clause should be the last clause.

Correct Answer: C

QUESTION 13

Which two statements are true regarding savepoints? (Choose two.)
A. Savepoints are effective only for COMMIT.

B. Savepoints may be used to ROLLBACK.

C. Savepoints can be used for only DML statements.

D. Savepoints are effective for both COMMIT and ROLLBACK.

E. Savepoints can be used for both DML and DDL statements.

Correct Answer: BC
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QUESTION 14

Which SQL statement displays the date March 19, 2001 in a format that appears as "Nineteenth of March 2001
12:00:00 AM"?

A. SELECTTO_CHAR(TO_DATE(\\'19-Mar-2001\\', "DD-Mon-YYYY\), "fmDdspth"of* Month YYYY fmHH:MI:SS AM\\')
NEW_DATE. FROM dual;

B. SELECTTO_CHAR(TO_DATE(\'19-Mar-2001\\', 'DD-Mon-YYYY\\'), "Ddspth"of" Month YYYY fmHH:MI:SS AM\V)
NEW_DATEFROM dual;

C. SELECTTO_CHAR(TO_DATE(\W'19-Mar-2001\\', 'DD-Mon-YYYY\V), ‘fmDdspth "of* Month YYYYHH:MI:SS AM\\)
NEW_DATE FROM dual;

D. SELECTTO_CHAR(TO_DATE(\\'19-Mar-2001\\', 'DD-Mon-YYYY), ‘fmDdspth "of* Month YYYYfmtHH:HI:SS AM\\)
NEW_DATE FROM dual;

Correct Answer: A

QUESTION 15

You are currently located in Singapore and have connected to a remote database in Chicago.
You issue the following command:

Exhibit:

S0L> SELECT ROUND(SYSDATE-proma_begin_date 0)
FROM promotions w__{-:.*-‘:*'
WHERE (SYSDATE proma_begin_date)/365 = 2;

PROMOTIONS is the public synonym for the public database link for the PROMOTIONS table. What is the outcome?
A. Number of days since the promo started based on the current Singapore data and time.

B. An error because the ROUND function specified is invalid

C. An error because the WHERE condition specified is invalid

D. Number of days since the promo started based on the current Chicago data and time

Correct Answer: D
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